Summer 2016
Dear Future Fifth Graders,

Happy Summer! We hope that you spend lots of time over the summer playing outside and being
present with friends and family. While summer is a great time to relax and unwind, it also gives
us the time and opportunity to read and continue to learn. Your summer work will be composed
of two parts: reading and math.

Reading

Before we meet in August, your job will be to read two books from the list below. All
students will read Pay I't Forward (Young Readers' Edition) by Catherine Ryan Hyde. In
addition, you will read a second book of your choice from the list below.

For each novel, you will write a 2 paragraph response to the book. The first paragraph should
be a summary of the story. The second paragraph should include your reactions to the book.
For example, what did you think about the book? What questions do you have? What
connections can you make? What did you like? What didn't you like? Your responses can be
handwritten or typed.

Book All Students are Required to Read
 Pay It Forward (Young Readers’ Edition)by Catherine Ryan Hyde

Choice Books (Choose One)
May B by Caroline Starr Rose
Lawn Boy by Gary Paulsen
Call I't Courage by Armstrong Sperry
Matilda by Roald Dahl
The BFG by Roald Dahl

Math

Please complete the math packet throughout the summer. While working through the packet,
you will review your addition, subtraction, multiplication, division, and problem solving skills.

It is extremely important to keep practicing your facts throughout the summer. You have
worked so hard in fourth grade to become strong multipliers and dividers; if you do not keep
up your practice, you will find that you will be much farther behind when we start fifth
grade.




To Review
By the time school resumes in August, you will be responsible for the following items..

Reading:
e Pay It Forward (Young Readers’ Edition)by Catherine Ryan Hyde
e 1Choice Book from the List Above

Turning In:
e Completed Math Packet
e A Written, Two Paragraph Response to Pay It Forward
o A Written, Two Paragraph Response to Choice Book from the List.

We look forward to learning with you this year. Have a great summer!

From,
Miss Scharm and Mrs. Haitz
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L34y
+ 251

6. 2748
+ 2,147

. -
B Y4
+ 36

p
3 g

b 6. uy3z,
; U 24
He 21
+13

LA 653
o Q4

2. 2017
B o5

2. Yo7
+139

7. 5471
+ 2,787

22 . 4

71
+13

7. 680
71

63
+14

22. 364
-192

27. 6411
- 4,254

3. 267
+149

8. 4387
+1,349

3. 73

i 1)
+27

18.. 304
W
33

+17

23. H67
- 284

28.. 5,068
- 2,219

4.

= 2419

24.

29.

3,787
+ 147

3,661
+ 2,677

- 272
156
+38

. 67y

341
231,
+ 143

=267

35407
- 4,761

613

5. 6971
+ 534

10. 28,920
+ 6,378

15.. 7514

6.372

+ 5401 -

20. 6324 .
3,641

3,541
+1,032

25. 504

30. 51,734
- 2,516

& Carson Deliost+ G005

CD I can add and subtract large numbers. -

33



Name

Solve each problem.

1

Stuart counted 5,671 red ants. Alice
counted 6105 black ants. How many more
black ants than red ants were counted?

2. The Pets-R-Us pet store sold 733 pounds

of birdseed in January. In February, the
store sold 559 pounds of birdseed. How
many pounds of birdseed did the store sell
altogether?

The robin flew 31419 feet. The blue jay flew
2,866 feet. How many more feet did the
robin fly than the blue jay?

. At the butterfly exibit, Ryan saw 219

orange butterflies and 859 yellow
butterflies. How many butterflies did Ryan
see dltogether?

. There were 231416 leafcutter ants in the

rain forest. There were 16,980 beetles and
5,688 dragonflies. How many insects were
there altogether?

. In November, 9,717 birds flew south for

the winter. Another 459 birds flew south
in December. How many birds flew south
altogether?

The garden contains 256 grasshoppers.
If the garden contains 2,041 insects, how
many insects are not grasshoppers?

. Leslie saw 108 monarch butterflies in the

field. Mario saw 849 monarch butterflies
in the meadow. How many monarch
butterflies did Leslie and Mario see
altogether?

(D I can add and subtract to solve word problems.
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Name

Solve each problem.

1. The Cruisin’ Coaster has 19 cars. If 37 people can ride in each car, how many people can
ride at the same time?

2. The Jungle Adventure boats hold 14 people. If there are 21 boats, how many people can ride
at the same time?

3. Harry and his friends waited 15 minutes in line for each ride. If they rode 38 rides, how many
minutes did they spend waiting in line altogether?

4. Cory has 24 packages of sunflower seeds. If each package has 15 seeds, how many
sunflower seeds does he have altogether? :

5. Monica's yard measures 63' x QW'. How many square feet does she need to buy fertilizer for?

6. A ream of paper contains 500 sheets, and there are 10 reams in a case of paper. If Emily-
buys 30 cases, how many sheets of paper will she have?

7. An ant bed contains about 230 ants. If there are 6 of these beds on the playground, how
many ants are there?

(li 1 can multiply large numbers.

s
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Name_——
pivide.

1 6)4a7 - 2. 2)128 3.
5, 6)678 b. 5)2.516 7
Q. 8)8,179 10. 6)2,649 11.
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17. 14)3424 18. 8)31456 1q.
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3)6,879

5)3466
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20.

q)us

3)2.076

7)6,554

2)6,671

9)3,952

@ I can divide large numbers.
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4
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Solve each problem. -

1. Kyle is packaging jam in carfons. If each
carton holds 9 bottles of jam, how many
cartons will he need to package 1934
bottles of jam?

2. Anna has 7,209 cans of soup that need
to be boxed. If she puts 9 cans of soup in - ¢
1 box, how many boxes will she need?

3. Katherine has 9.315 sunflower seeds. She
puts 7 seeds in each package. How many
full packages of sunflower seeds does
Katherine have when she is finished?
How many seeds are left over?

4. Jermaine is bottling 61488 ounces of root
beer. One bottle holds 8 ounces. How
many bottles will Jermaine have if he’
bottles all of the root beer?

B g e e
s i

5. Mario is packaging footballs in a box. Six
footballs will it in 1 box. How many boxes
will Mario need if he has to package 288
footballs? j '

6. Katie has 2,837 flowers. If Katie puts 7
flowers in each vase; how many full vases
will Katie have when she is finished? -

7. Leo is botiling soda. Each bottle holds 7
ounces. How many bottles does Leo need
if he has 2786 ounces of soda to bottle?

8. Jenny is packaging fruit. She has 343 i
apples, 328 pears, and 548 oranges.

~ If she puts 4 pieces of fruit in each . }
package, how many full packages will she i

have when she is finished? How many oo
pieces of fruit will be left?

(l:l I can divide large numbers.
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Name

(The more parts the whole 1
is divided into, the smaller
the fraction is.
—
ﬁ
\_ . J
Use the fraction table to help you think about which fraction is greater. Use >, <, or = fo
compare each pair of fractions.
.1 1 2. . 2 1 3. 1 1 oo 2 1
2 4 4 6 6 3
5 4 2 6. 1 1 7. 3 2 8. 2 1
8 10 12 0 4 8 5 3
9 3 10 10. 2 1 n 1 2 2. 1 2
8 1 5 10 3 g’
3. 1 3 4 3 1 5. 5 3 6. 1 6
6 3 12 ' 10 6 2 10
(l:l I can compare two fractions with different numerators and denominators. )
47
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Name
@ e = )
To add or subtract fractions when the
denominators are the same, you just add or = .
subtract the numerators. The denominators P
do not change. Try to picture each problem o — -
in your head. 9 9 y 1
y ' 3 = 3 oty
\_ v,
Add or subtract.
1 2 2. 3 3. 6 u. 10
6 i 8 12
_ y i 3 + N
6 Y -8 12
5. Y 6. 7 7 q 8 y
5 8 n 7
5 8 11 7
9. 3 10. Y . 8 12. 5
: 10 9 12 13
. S . S iz + 2
10 9 12 13

(l:l I understand how to add and subtract-fractions that are part of the same whole.

)

51
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Name

10 millimeters (mm) = 1 centimeter (cm)
100 centimeters (cm) = 1 meter (m)
1,000 meters (m) = 1 kilometer (km)

Find the missing numbers.

. S5em= mm 2. 700 cm =
4. 16,000 m = km 5. 60 mm =
7. 400 em = .m 8. 2km=
10. 90 mm = cm . 72m=
13.9m = cm . 5000 m =
16. 17 km = m 7. 3ecm=

Answer each question.

19. Penny walks 2 kilometers. Amanda
walks 5,000 meters. How many more
meters does Amanda walk than
Penny? How many meters do they
walk altogether?

m 3. 8000m=______km
cm 6. 3bcm = mm
m 9 15m= cm
cm 12. Ykm = m
km . 15 84cm= mm
mm 18. 6im = cm

20. Norman'’s piece of string measures 15
centimeters. Kayla's piece of string is
200 millimeters. Who has the longest
piece of string?

(] I can find equivalent measurements.
] I can solve measurement word problems.
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Name

t gram (g) = 1000 milligrams (mg)

1,000 grams (g) =1 kilogram (kg) -

Find the missing numbers.

. 3g= mg 2. 8000mg=
4 84000g=___ kg5 Adg=

7. 73g= mg 8. 57,000mg =
10. 7000g=____ kg M. 12g=

3. 6000g=____ kg 4. 2000 mg =

Answer each question.

16. Megan uses 4,000 milligrams of sugar in
her recipe. How many grams of sugar .
does she use?

17.

g 3. M™000g-= kg
mg 6. W000g-= kg
g 9 25000g=___ kg
mg 2. 118,000g-= kg
g 15. 65g-= mg

Harry measures 15 grams of salt. How
many milligrams does he measure?

18. Jake’s book weighs 2 kilograms. How many
grams does his book weigh?

19.

Peter’s recipe calls for 16,000 miligrams of

cocoa. How many grams of cocoa does
Peter need?

(] I can find equivalent measurements.
] I can solve measurement word problems.
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Name

10 m
Remember, to find the area of a rectangular 3m
figure, multiply the length by the width. =
3x10=30sq.m
Find the area of each shape.
1. 7 in. 2, 8m
4in. 8m
3. 4 4cm
1bm 1 Yecm
3cm
5m 3cm
Solve each problem.
5. Holly makes a rectangular kite that is 15" x 6. Linden frames a poster that is 25" x 39"
28". What is the area of Holly's kite? What is the area of Linden'’s poster?
7. If Maria’s garden measures 6 yd. x 9 yd, 8. Travis buys a piece of canvas for his
what is the area of her garden? project that measures 15' x 33" What is
the area of the canvas?
8
g
S
;
2 (EI I can use formulas to find the area of rectangles. )
O
°

73



Use the diagram to answer the questions about the Quan family's house.

“Second Floor of the Quan Family’s House -

m

=

'BEDROOM A FAMILY ROOM
16 f1.x 12 ft. 18 ft. x 12 ft.
HALL 25 ft. x4 fY. - |/
1\ ===y ' —~ | BATH-
\ \[ ROOM
. ' 10°ft. x
BEDROOMC BEDROOM B : [0 ft.
12Ft x 1T FE 13 ft. x || ft. T
1. What is the area of the family room? sq. ft.
2. How much larger in dré_q is the family room than bedroom C? _ sq. ft.
3. How many square feet do the 3 bedrooms total? sq. ft.
Y. What is the area of the bathroom? - sq. ft.
5. What is the area of the entire upstairs? sq. ft.
6. What is the difference in area between the largest bedroom and the bathroom?
sq. ft.

(D I can use formulas to find the area of rectangles.

(5.
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Name
Kyle and his friends are shopping for 'rhelr party. Use the shopplng fist below to solve each
problem .
& _ Sh_opping List ! )
‘paper plates $149 =
cups oo %259 R
soda (2-liter bottle) C$u9
napkins 815
cake - - $1545
ice.cream $2.69
candy. “$4.75:
party favors .$9.25°
\_ _/

1. Kyle buyS 3 packages of paper plates and 4
packdges of cups, How much does he spend |
ql'roge’rher’? :

. Léélie -buys 3 packages of candy. She pays. ;
%

'get back? ;,

with a $20 bill. How: much chqnge does she

3, Kathryn buys 13 2-liter bottles of soda for
“the party. She only has a $10 bill. How much
‘more money does she need?

L. Nicole bUyS?-:S. pockqge-é"of‘ pcrty favors -
- and 3 packages of candy. How much
_more does she spend on party favors than

candy?:

5. Amy sends 135 party invitations. If she
spends 15¢ to mail each invitiation, how
much money does she spend on postage
dltogether?

. Pete buys a cake and 2 cartons of ice

cream. He has 2 ten-dollar bills, 1 five-doliar
bill, and 2 quarters in his wallet. How much
will he have left in his wallet after he buys
the items for the party?

CD I can solve problems involving money.

70
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Name

Round to the nearest ten.

T 72 2,55

5 83___ 6. 17

Round to the nearest hundred.

9. 284 10. 924

13. 752 M. 728

Round to the nearest thousand.

17. 1432 18. 2418
20. 4,299 21 649
23. 972 24, 442

Round to the nearest ten thousand.

26. 23,56 27. 97453

Round to the nearest hundred thousand.

29. 238,249 30. 956,235

L

49

561

. 689

28. 12971

31.

2. 354

16. 192

19. 1,242

22. 7,546

25. 5,948

200,345

G:I I can round numbers up to 1,000,000.

\—/

30
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Name

A scalene triangle has 0 sides that are equal in length.
n isosceles triangle has 2 sides that are equal in length.
An equilateral triangle has 3 sides that are equal in length.

Identify each triangle as scalene, isosceles, or equilaterat..

An acute angle is less than 90 degrees.

A right angle equals 90 degrees.
An obtuse angle is greater than 90 degrees.

)
=
-

J

Identify each angle as acute, right, or obtuse.
7. 8. Q.

10. 1. 12.

i

4MD5. 4G2

[ I can identify angles.
[ I can classify polygons, such as right triangles, by the types of angles and lines used to
form the polygons.

87
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Name

(A line of symmetry is a line that divides a figure into two matching parts. If a figure has one )
of more lines of symmetry, the figure is symmetrical. These figures are symmetrical.

_

Draw a line of symmetry on each object.

1 2.

Draw two lines of symmetry on each figure.

S

[ I understand that lines of symmetry divide a shape into matching parts.
[ I can identify symmetrical shapes and draw lines of symmetry.

89




Division Facts (A)

88

Calculate each quotient.

121

49

27 80 120 99 50 88
+3 +11 +8 +12 +9 +11 +5 =5 +8 +7
33 72 14 10 8 66 64 18 90 132
+11 +9 +2 +10 =2 +11 +8 =3 =9 +12
28 108 44 9 108 96 64 10 12 80
4 12 =4 +9 +12 +12 +8 +10 +1 + 8
63 88 132 20 4 20 54 77 36 9
+9° <8 +12 =5 +2 0 F2 7 +6 T+11 +3 =1
28 9 24 20 70 48 11 63 33 40
=7 +9 +8 +2 +10 =8 =1 =9 +3 = 4
10 9 33 96 24 88 72 50 15 32
+5 =9 +11 +12 =2 +8 +6 =5 +3 -4
16 35 18 88 56 4 16 144 4 8
+8 +5 +6 +8 +7 +4 +8 +12 +4 =1
100 24 4 36 24 40 25 49 36 5
+10 +3 +1 +9 +4 +10 +5 +7 +12 +1
60 6 50 35 96 4 36 32 12 80
+12 + 3 +5 +5 +12 + 4 +3 +4 +3 +8
56 60 5 66 35 121 22 60 8 88
+8 =10 +5 +6 +5 =11 +11 <+12 +8 +8

Math-Drills.Com




Division Facts (B)

64 18

Calculate each quotient.

8 40 27 108

9

+8 +3 +3 +1 +8 +3 +9 =1 +7 =5
30 12 70 64 77 27 11 100 60 60
+10 +3 +7 +8 =7 +9 +11 +10 =10 =6
12 5 12 45 60 5 11 50 8 10
=12 +1 +6 +9 +6 -1 +11 +10 + 4 =2
14 15 20 99 28 15 60 7/ 54 70
=7 %3 2  +9 7 5 =6 7T 126 10
16 72 27 25 99 33 50 110 16 70
+4 +6 +9 +5 <9 +11 +10 +10 +8 +7
16 42 8 10 12 110 40 38 40 48
=4 +7 +4 -2 =1 +10 +5 +11 =5 +4
48 60 42 40 40 28 132 24 12 9
+ 4 +5 +7 +4 +4 +7 +12 +3 +2 +1
132 48 21 24 48 120 36 144 20 40
+11 +6 +3 +8 =+12 +10 +6 +12 +5 +10
7 5 27 88 24 35 50 1 81 12
=7 +1 +9 +11 +3 +7 +5 +1 +9 +6
144 66 40 96 99 9 99 42 80 42
+12 +6 +8 + 8 +9 +9 +9 +6 +8 +7




Division Facts (C)

Calculate each quotient.

30

27

49 10 9 63 64
+7 +1 =5 +3 =9 +10 =3 +2 +2 ~8
30 10 20 42 36 100 120 44 12 70
=3 +2 + 2 =7 +6 +10 +12 +4 +12 +10
8 12 121 42 8 55 100 3 33 20
=1 +2 +11 +6 +2 +11 +10 =3 +11 +2
14 24 24 9 3 84 6 45 25 10
+7 =12 & =4 -9 +3 7 +77 +£2 7 +9 " :zp8 =2
6 110 6 54 24 14 80 36 80 25
+2 +11 +6 +6 +8 +7 +8 +9 +10 +5
10 15 66 24 64 45 110 90 40 50
+1 +5 +11 + 2 +8 +5 +11 +10 +5 +5
33 12 12 30 9 55 108 16 44 24
+11 +3 +6 =5 =1 +11 = +8 +4 +12
84 60 90 16 25 88 32 50 20 30
+12 +10 +10 +8 +5 +11 +8 =10 +5 +6
35 27 28 7 84 11 6 24 90 35
+5 +9 +4 +1 =7 =+11 +1 +4 +10 +5
12 6 84 36 10 16 21 18 12 66
=1 =2 =12 + 4 =10 + 4 =7 =9 +12 <11

| _- Math-Drillg_.a)m




Division Facts (D)

ST

Calculate each quotient.

e

b

14

42

90
+3 =4 +3 +~11 +10 =2 +6 =1 +10 =1
50 5 35 6 77 96 55 11 40 100
=5 =1 =5 =1 =7 =12 +5 +1 +5 +10
120 25 14 84 12 21 110 30 81 88
=10 +5 +7 +12 +12 =3 +11 =3 +9 +8
9 44 40 108 121 121 5 /. 90 9
+1 " +11 +5 v+ 12 0 +11 +11 =1 =1 39 e
48 36 121 132 2 30 22 18 66 108
+8 +12 +11 =11 =1 +5 +11 +6 +6 +9
5 24 54 24 80 24 100 56 55 100
+5 + 2 +9 + 4 =8 =8 =10 =8 +5 +10
96 22 55 108 36 90 84 60 50 36
=8 =11 +5 =12 +3 +10 +7 +10 +10 ~4
45 54 50 77 63 60 15 3 42 40
+9 +9 =10 +11 +7 +10 +5 =1 +6 + 4
1 24 60 15 90 24 33 27 45 108
+1 +2 +5 +3 +10 +3 +3 +9 +5 +12
48 15 70 3 110 5 36 32 10 48
+4 =5 +10 +3 +10 =1 +9 +4 +2 +6
E- } Math-Drills.Com ]




Division Facts (E)

: 50...

Calculate each quotient.

72 28 96 110

48 10 24
=2 =4 +10 -6 +4 +8 +10 =5 +3 +4
27 63 12 12 28 50 24 8 56 72
+9 +9 +3 + 4 +7 +10 +12 +4 +7 +12
144 80 108 3 77 45 6 33 110 20
+12 =10 +12 +3 =7 +5 =2 +11 +11 =2
20 60 55 48 25 50 25 9 90 56
+5 7 +§5 +5 +6 +5 +10 <5 1 <10 =+8
18 50 54 20 48 77 14 12 63 36
+9 +5 +9 +2 +8 =7 +7 +1 =7 +6
50 18 28 70 48 6 36 6 121 110
+5 +6 +7 +7 +8 +6 +3 +1 +11 +11
14 36 36 40 55 48 36 96 12 60
=7 =9 +9 +10 +11 +8 +12 +12 +12 +10
36 100 70 25 8 70 88 72 70 4
+12 +10 +10 +5 +4 +7 +11 +9 +10 +2
77 49 8 108 24 45 1 81 24 8
+7 +7 +1 +12 +3 +9 +1 +9 + 8 +2
8 54 4 24 24 7 56 48 108 10
+4 +9 +1 +6 +8 +7 +7 + 8 +9 +5




Division Facts (F)

Calculate each quotient.

64 16 22 16 120 48 60 20 96 10
+8 =2 +11 =8 +12 +6 +6 +4 =12 +5
49 40 36 66 55 24 88 77 48 10
=7 +10 =6 =6 =5 +12 +8 =7 +12 +10
20 24 50 42 36 20 80 50 2 5

=10 +8 +5 =7 +4 =2 +8 =10 +2 +5
10 9 70 63 40 120 21 48 12 45
=5 +9 =7 +9 +10 <12 T +3 +8 +4 9

5 27 132 48 22 120 48 28 21 48
+5 +9 =+11 +6 +11 <+12 +8 +4 +3  +12
63 40 4 21 70 60 7 5 40 12
=7 =10 =1 +7 =10 +5 =1 +5 +10 +3
48 48 10 30 6 12 60 20 60 32
=4 =4 =2 +10 +1 +2 +10 +4 +5 +8
20 4 24 16 12 33 21 25 99 72
+10 =4 +12 =2 =1 +11 =7 =5 =9 +12
60 110 48 88 40 16 24 72 12 3
+12 +11 +8 +8 +10 +4 +12 +6 +4 +3

132 14 88 15 45 96 132 8 44 42

+12 +2 +11 +3 +9 +8 +12 +8 +4 +7

Math-Drills.Com




Division Facts (G)

48

90

Calculate each quotient.

25 96 100 72

16 16 10 45
+12 +4 +9 +5 +8 =+10 +8 +8 + 2 +9
120 36 121 8 1 72 27 55 70 16
+10 +3 +11 + 2 +1 +8 +3 =+11 +10 +8
110 72 56 21 20 12 18 64 5 25
+11 +12 +8 +7 +4 +1 +3 +8 +1 +5

10 60 24 1 108 8 10 12 33 99
=27 ¥12 £6 +1 <12 +2 =5 £17 37 11
35 30 50 28 4 12 55 8 63 110
+5 +3 =10 +4 +2 +1 +5 +4 +9 +10
32 40 121 16 54 24 30 72 70 27
+8 +8 +11 +8 =6 +2 +5 +8 +7 +3
48 70 32 10 48 32 96 18 9 3
+12 +7 +4 +5 +4 +8 +12 +6 +3 +1
96 48 24 132 56 10 8 24 11 4
+8 +12 +12 +11 +8 +5 +2 -8 +11 +1

6 96 40 60 63 9 88 70 42 120
+3 +8 =8 +6 +7 +3 +8 =10 +6 <12
45 108 6 12 42 64 7 90 18 9
+5 +9 +2 +6 +7 +8 +7 +10 + 2 +9




Division Facts (H)

66 12

Calculate each quotient.

22 32 14 132 24 25 144

+11 +3 +2 +8 =7 +11 +2 +5 +12 +5
63 36 30 4 120 35 8 36 21 90
+7 +9 +10 +4 <10 +7 +1 +4 +7 +10
24 48 24 9 30 20 18 15 21 10
+12 +12 + 8 +1 +6 +4 +6 +3 +7 +2
20 120 1 100 24 36 18 18 24 81
10 +10° <1 +«10 +4 +12  +9 <9 +4 T +£9
35 48 132 18 24 36 48 4 30 18
+5 +12 +12 +9 +6 +3 +8 +1 +5 + 2
36 48 3 40 10 88 12 108 18 16
+6 +8 +3 +8 =1 +8 +3 +9 +2 +~2
55 10 8 54 90 12 56 40 60 72
+5 +10 +8 +9 +10 +12 +7 +4 +6 =9
44 70 28 8 9 70 50 40 9 132
+11 +10 +7 +8 +9 +7 +5 +8 +1 +12
80 30 54 72 24 88 77 42 14 8
+10 +3 +6 +9 +4 +8 +11 +6 +2 +4
6 12 72 33 28 44 5 14 9 1
+3 +3 +8 +3 +7 +11 +5 +2 +9 +1

) Math--l_)rills.Com




Division Facts (1)

44

Calculate each quotient.

32 56 80

108

10 8 49
+3 +11 +7 +1 +8 +7 +8 -4 +12 +7
12 8 8 55 12 33 14 48 90 21
+3 +1 =2 +5 +2 +11 +2 + 4 +9 =3
90 6 24 84 30 20 80 24 40 16
+9 +6 +4 +12 +5 +2 +10 +6 + 4 =4
20 24 45 8 33 99 33 15 8 36
T4 EATEQT T s4 e £11 T 83 e g g
66 55 18 60 77 36 24 60 1 8

+11 =5 =2 +6 =7 +6 =4 +6 =1 =1
96 8 16 5 36 70 96 4 14 25
+8 +1 + 4 <5 +12 +10 <12 +4 =7 +5
5 63 10 18 22 35 33 8 77 9
+1 +9 +1 +9 +11 +5 +3 +4 =7 =3
8 6 12 22 16 66 20 100 77 90
+8 +3 +2 +2 +4 +11 +10 =10 +11 +10
7 110 44 32 7 9 30 132 60 55
+1 =+11 +4 +8 +1 +9 +6 +11 +5 +11
110 18 8 9 6 77 66 7 3 6
+11 +6 +2 +9 +3 +11 +6 +1 +1 +2
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Division Facts (])

0

56

Calculate each quotient.

27 18 80 24 66 56 84
+12 +7 +3 +9 +10 =6 +5 +11 +8 +12
7 120 12 33 14 6 99 70 20 72
+7 +12 +2 =3 +7 +2 +9 +7 +10 =9
56 11 80 22 99 11 22 25 5 42
=7 =1 + 8 +2 +9 +11 =2 +5 =5 =6
10 12 60 12 80 44 12 6 14 24
+10 +3 " +#12  "=2 +10 T +4 +1 +3 7 +2
40 66 20 27 21 12 10 5 2 54
=10 +11 +10 +9 +7 +2 +2 +1 =1 +6
3 63 132 88 22 81 3 108 72 121
+3 +7 =+11 +8 +11 =9 +1 <9 +12 =11
20 27 90 28 3 7 77 36 121 12
+4 +9 +10 +7 +1 +7 +11 =3 +11 =2
120 7 100 4 16 22 21 108 28 144
+12 =1 +10 +2 +2 +2 =3 +9 +4 +12
10 6 66 56 55 20 77 11 24 121
+2 +3 +6 =7 +11 +4 +7 +11 +2 +11
25 6 72 60 36 42 16 15 9 55
+5 +1 +6 +10 +3 +7 +8 +5 +9 =+11
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Division Facts (A)

Find each quotient.

6+3= 9+3= 5+5= 25+5=
2+2= 42 +6 = 56+7= 6+-6=
96 -8 = 168 = 18+3= 45+9 =
202 = 120+-10 = 18+2= 606 =
56 +8 = 32+-8= 12+2 = 248 =
77+11 = 7+7= 30+-5= 8+8=
16 -4 = 6611 = 12+3 = 30+-3=
20+5= 72+12 = 9+1= 142 =
PAE=R B S s v - 30+6= 63T =
1+1= 9+9= 54+9 = 108 +9 =
132+12 = 28 -4 = 6-+-1= 10+-2 =
132+11 = 36+-6= 3+3= 12+12=
48 -6 = 3612 = 2+1= 24 12 =
72+-6= 3+2= 3+-1= 24 -2 =
15+3= 36-9= 40+8 = 222 =
40+10= 36+-4= 21+7= 35+5=
1010 = 40+4 = 4+1= 7+1=
110+11 = 244 = 8+1= 48 - 12 =
72 -8 = 121 +11= 4+2= 36 -3 =
50+10= 63+9 = 35+7= 72+9 =
2010 = 144 =12 = 808 = 80+ 10=
273 = 108+-12 = 48 -8 = 24 =3 =
88 +8 = 162 = 70+10 = 64 -8 =
28+7= 33+-11= 62 = 120+-12 =
90+10= 10+-1= 18+9 = 32+4=

| Math-Drills.com




Division Facts (B)

___Find each quotient. =~

70+7 = 49 +7 = 54+6= 81+9 =
60+-10= 84+12 = 8+4= 20+4 =
18+6= 66+6 = 99+9 = 90+9 =
50+5= 84 +7 = 33+3= 44 =11 =
100+10 = 24 6= %6 +12 = 30+-10=
12+4 = 27+9 = 10+5= 11+-11=
110+10 = 42 +7 = 9+11= 22+11=
11+-1= 5+1= 77+7 = 55+5=
4+4= 44 +4 = 88+11= 12+1=
40+5= 60+5= 15+5= 55+11=
20+-5= 50+10= 108 +9 = 3+-1=
9612 = 8+1= 11+1= 45+5=
287 = 54+-6= 82 = 222 =
4+4= 56 +7 = 24 +3 = 25+5=
32+-8= 36+-3= 9+9= 22+11=
2+-1= 108 +-12 = 35+5= 6+-1=
6012 = 16 +8 = 36 -12= 9+1=
121+11= 8+4= 9+3= 72+12 =
4+1= 7717 = 10+2 = 36 -4 =
24 +8 = 6+3= 30-3= 16 -4 =
70+7= 42 +7 = 44 +-11 = 144 +12 =
18+-9 = 99 +9 = 7010 = 18+3 =
12+6 = 217 = 30+-10= 24 -4 =
14+2 = 15+3= 132+11 = 2412 =
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Division Facts (C)

. Find each quotient.

72+8 = 10+-10= 27+9 = 48 -4 =

60+10= 33+3= 13212 = 5+1=
60+5= 20+-10= 11+11= 12+3=
204 = 96 -8 = 10+5= 49+7 =
27+3= 5+5= 35+7 = 48 +12 =
10+1= 24 -2 = 88 +-8 = 55+11=
7+1= 33+11= 21+3= 1+-1=
12+1= 12010 = 63+-7= 90+9 =
12+2= - 84=+12= - - 64+-8= - 110=+10="
32+4= 7T+7= 56 +-8 = 15+5=
84+7= 6+-6= 90+10= 18+2 =
12012 = 202 = 30+-6= 14+7 =
6611 = 3+3= 12+12= S55+5=
80+-8 = 40+5= 110+11 = 305 =
162 = 40+10= 50+5= 40+-4 =
77 =11 = 18+6= 80+-10= 48 +8 =
72+6= 100+-10 = 60+-6= 28+4 =
45+9 = 819 = 369 = 99+11=
12+4 = 63+9 = 712+9 = 88+11=
44 +4 = 54+9 = 40+8 = 24 -6 =
666 = 62 = 2+2= 48 -6 =
36-6= 8+8= 42 +-6= 4+2=
36+-6= 32+4 = 56+8= 27+3 =
405 = 90+9 = 32+-8= 96 +12 =
10+-10= 72+6 = 16+2= 48 +6 =
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Division Facts (D)

- Find each quotient.

36-9= 12+12 = 6012 = 132+12=

12010 = 108 -9 = 33+3= 18+9 =
12+2 = 35+7= 144 +12 = 168 =
202 = 48 +8 = 6+3= 60+5=
72+9 = 12+6= 108 +12 = 30+-3 =
30+-6= 2211 = 36-12 = 12+3 =
81+9= 20+-10= 7711 = 12+4 =
999 = 54+6= 246 = 18+2 =
50+-10=- - 9+9= - 24+3 = | 287 ="
9+1= 7+7= 2412 = 40+8 =
284 = 45+9 = 7+1= 10+-5=
12012 = 42 +6 = 48 -4 = 3+3=

18+-6= 11010 = 6+-6= 25+5=
110+11= 36-3= 8412 = 54+9 =
21+7 = 36+-4= 33+11= 63+7=
48 +-12 = 2+2= 21+3= 50+5=
55+5= 96+8 = 63+9= 88+11=
728 = 66 +6= 30+-5= 20+5=
121+11 = 5+1= 132+11= 44 +4 =
30+-10= 4+1= 5+5= 80+8 =
16 +-4 = 72+12 = 6611 = 77+17 =
15+3= 24 =8 = 18+3= 11+11=
27+9= 24 +2 = 24 +4 = 606 =
22+-2= 55+11= 1+1= 35+5=
45+5= 10+2 = 20+-4 = 11+-1=
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Division Facts (A)

88

Calculate each quotient,

1200 99 121 50

49

27 80 88
=3 +11 +8 =12 +9 =11 +5 =5 =8 =7
33 72 14 10 8 66 64 18 90 132
+11 +9 +2 +10 =2 +11 +8 =3 +9 =12
28 108 44 9 108 96 64 10 12 80
+4  +12 +4 +9 +12 +12 +8 +10 +1 +8
63 88 132 20 4 20 54 77 36 9
£g=  sg £12 =5 e T S R T ©q
28 9 24 20 70 48 11 63 33 40
+7 =9 + 8 +2 +10 +8 +1 +9 +3 +4
10 9 33 96 24 88 72 50 15 32
+5 +9 +11 +12 +2 +8 +6 +5 +3 + 4
16 35 18 88 56 4 16 144 4 8
+8 +5 +6 + 8 +7 +4 +8 +12 +4 +1
100 24 4 36 24 40 25 49 36 5
+10 +3 +1 +9 +4 +10 +5 +7  +12 =1
60 6 50 35 96 4 36 32 12 80
+12 =3 +5 +5 +12 +4 +3 +4 +3 +8
56 60 5 66 35 121 22 60 8 88
+8 +10 +5 +6 +5 +11 +11 =+12 +8 =8
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Division Facts (B)

Calculate each quotient.

9 8 40

.27.

108

60
+8 +3 +3 +1 +8 +3 +9 +1 +7 +5
30 12 70 64 77 27 11 100 60 60

+10 +3 =7 +8 =7 +9 +11 +10 =10 =6
12 5 12 45 60 5 11 50 8 10
+12 +1 +6 +9 +6 +1 <11 +10 +4 +2
14 15 20 99 28 15 60 7 54 70
=7 +3 +2 +9 7 +5 =6 +7 +6 +10
16 72 27 25 99 33 50 110 16 70
+ 4 +6 +9 +5 =9 =11 +10 <+10 + 8 +7
16 42 8 10 12 110 40 88 40 48
+4 +7 +4 +2 +1 +10 +5 +11 =5 +4
48 60 42 40 40 28 132 24 12 9
+4 +5 +7 +4 +4 +7 +12 +3 +2 =1
132 48 21 24 48 120 36 144 20 40
+11 +6 +3 +8 +12 +10 +6 <12 +5 +10
7 5 2:7 88 24 35 50 1 81 12
=7 +1 +9 +11 +3 +7 +5 +1 +9 +6
144 66 40 96 99 9 99 42 80 42
+12 +6 +8 + 8 +9 +9 +9 +6 + 8 +7
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Division Facts (C)

Calculate each quotient.

9

63 30

27

49 10 10 4 64
+7 +1 +5 +3 +9 +10 +3 + 2 +2 +8
30 10 20 42 36 100 120 44 12 70
=3 +2 +2 =7 -6 +10 +12 +4 +12 =10
8 12 121 42 8 55 100 3 33 20
+1 + 2 +11 +6 +2 +11 +10 +3 +11 + 2
14 24 24 9 3 84 6 45 25 10
+7 %12 +4 +97 &3 r7 T +27 &9 T ip =2
6 110 6 54 24 14 80 36 80 25
+2 +11 +6 +6 =~ 8 +7 ~8 +9 =10 +5
10 15 66 24 64 45 110 90 40 50
+1 +5 +11 +2 +8 +5 +11 +10 +5 +5
33 12 12 30 9 55 108 16 44 24
+11 +3 +6 =5 +1 +11 +9 + 8 +4 =12
84 60 90 16 25 88 32 50 20 30
+12 <10 +10 +8 +5 +11 +8 +10 +5 +6
35 27 28 7 84 11 6 24 90 35
=5 +9 +4 +1 =7 <11 +1 =4 +10 +5
12 6 84 36 10 16 21 18 12 66
=1 =2 =12 +4 +10 +4 =7 +9 +12 +11
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Division Facts (D)

Calculate each quotient.

12 8 18 66 50 14 42 4 90 1
+3 + 4 +3 +11 =10 +2 =6 =1 +10 =1
50 5 35 6 77 96 55 11 40 100
+5 =1 +5 +1 +7  +12 +5 +1 +5 +10
120 25 14 84 12 21 110 30 81 88
+10 +5 + +12 +12 +3 +11 +3 +9 + 8
9 44 40 108 121 121 5 7 90 9

+1 +11"  =+5 +12 +11 =11 7 =+1 +1° 9 +3
48 36 121 132 2 30 22 18 66 108
+8 +12 +11 +11 +1 +5 +11 +6 +6 +9
5 24 54 24 80 24 100 56 55 100
+5 =2 =9 +4 =8 +8 =10 =8 =5 =10
96 22 55 108 36 90 84 60 50 36
+8 +11 +5 +12 +3 +10 =7 +10 +10 =4
45 54 50 77 63 60 15 3 42 40
+9 +9 +10 +11 =7 +10 =5 +1 +6 +4
1 24 60 15 90 24 33 27 45 108
=1 +2 +5 +3 =10 +3 +3 +9 +5 +12
48 15 70 3 110 5 36 32 10 48
+4 +5 =+10 +3 +10 +1 +9 +4 +2 +6
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Division Facts (E)

50

Calculate each quotient.

72 28 96 110

48 10 24
+2 =4 +10 +6 +4 +8 <10 +5 +3 + 4
27 63 12 12 28 50 24 8 56 72
+9 +9 +3 +4 +7 +10 +12 +4 =7 =12
144 80 108 3 77 45 6 33 110 20
+12 +10 +12 +3 +7 +5 +2 +11 +11 + 2
20 60 55 48 25 50 25 9 90 56
+5 " +5 <5 +6 +5 =10 =5 =1 +10 =8
18 50 54 20 48 77 14 12 63 36
+9 +5 +9 +2 +8 +7 +7 +1 +7 +6
50 18 28 70 48 6 36 6 121 110
=5 +6 +7 +7 +8 +6 +3 =1 +11 =11
14 36 36 40 55 48 36 96 12 60
<7 +9 +9 +10 +11 +8 +12 +12 +12 +10
36 100 70 25 8 70 88 72 70 4
+12 +10 +10 +5 +4 +7 +11 +9 +10 +2
77 49 8 108 24 45 1 81 24 8
+7 +7 +1 =+12 +3 +9 +1 +9 + 8 + 2
8 54 4 24 24 7 56 48 108 10
+4 +9 =1 +6 +8 +7 +7 =8 =9 =5
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Division Facts (F)

Calculate each quotient.

64 16 22 16 120 48 60 20 _ 96 10
+8 +2 +11 +8 +12 +6 +6 -4 =12 +5
49 40 36 66 55 24 88 77 48 10
+7 =10 +6 +6 +5 +12 +8 =7 +12 +10
20 24 50 42 36 20 80 50 2 5
+10 =8 +5 +7 + + 2 +8 +10 +2 +5
10 9 70 63 40 120 21 48 12 45
+5 <9 F7 T+97 210 +12 0 0 +3 +8 +4 +9
5 27 132 48 22 120 48 28 21 48
+5 +9 +11 +6 +11 +12 +8 +4 +3 +12
63 40 4 21 70 60 7 5 40 12
+7 +10 =1 +7 +10 +5 +1 =5 +10 +3
48 48 10 30 6 12 60 20 60 32
+4 =4 +2 +10 +1 +2 +10 +4 =5 =8
20 4 24 16 12 33 21 25 99 72
=10 +4 +12 =2 -1 +11 +7 +5 +9 +12
60 110 48 88 40 16 24 72 12 3
+12 =11 +8 +8 +10 +4 +12 =6 +4 =3
132 14 88 15 45 96 132 8 44 42
+12 +2 =11 +3 +9 +8 +12 +8 +4 +7

Math-Drills.Com




Division Facts (G)

Calculate each quotient.

48 16 90 25 96 100 72 16 10 45
+12 + 4 +9 +5 +8 =+10 +8 +8 +2 =9
120 36 121 8 1 72 27 55 70 16
=10 =3 +11 =2 =1 +8 +3 +-11 =10 =8
110 72 56 21 20 12 18 64 5 25
+11 =+12 + 8 =7 +4 +1 +3 +8 +1 +5
10 60 24 1 108 8 10 12 33 99
+2° +12 £6 1 <12 +2 =5 =17 £33 +11
35 30 50 28 4 12 55 8 63 110
+5 +3 +10 +4 + 2 +1 +5 +4 +9 +10
32 40 121 16 54 24 30 72 70 27
+8 +8 +11 +8 +6 +2 +5 + 8 +7 +3
48 70 32 10 48 32 96 18 9 3
+12 +7 +4 +5 +4 +8 +12 +6 +3 +1
96 48 24 132 56 10 8 24 11 4
+8 +12 =12 +11 +8 =5 =2 +8 +11 =1
6 96 40 60 63 9 88 70 42 120
+3 +8 +8 +6 +7 +3 +8 =10 -6 +12
45 108 6 12 42 64 7 90 18 9
=5 +9 +2 +6 +7 +8 =7 +10 +2 +9

" Math-Drills.Com




Division Facts (H)

66

Calculate each quotient.

12 22 32 14 132 24 25 144

+11 +3 =2 +8 +7 +11 +2 +5 +12 +5
63 36 30 4 120 35 8 36 21 90
+7 +9 +10 + 4 +10 +7 =1 +4 —7 +10
24 48 24 9 30 20 18 15 21 10
+12 =12 =8 +1 +6 +4 +6 =3 =7 =2
20 120 1 100 24 36 18 18 24 81
10 +10° <1 +10 +4 +12 0 +9° &2 +4 L9
35 48 132 18 24 36 48 4 30 18
+5 =12 +12 +9 +6 +3 +8 +1 +5 + 2
36 48 3 40 10 88 12 108 18 16
+6 +8 +3 +8 +1 +8 +3 +9 +2 +2
55 10 8 54 90 12 56 40 60 72
=5 +10 +8 +9 +10 +12 +7 +4 =6 =9
44 70 28 8 9 70 50 40 9 132
+11 +10 +7 +8 +9 +7 +5 +8 +1 +12
80 30 54 72 24 88 77 42 14 8
+10 +3 +6 +9 +4 +8 +11 +6 +2 + 4
6 12 72 33 28 44 5 14 9 s

+ 3 +3 +8 +3 +7 +11 +5 +2 +9 +1
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Division Facts (1)

Calculate each quotient.

10 32 56 80

44 49
=3 =11 =7 =1 + 8 =7 +8 +4 +12 +7
12 8 8 55 12 33 14 48 90 21
=3 =1 +2 +5 +2 +11 +2 +4 +9 =3
90 6 24 84 30 20 80 24 40 16
+9 +6 -4 <12 =5 +2 +10 +6 +4 + 4
20 24 45 8 33 99 33 15 8 36
<4 +4 9 4 3 +11 =3 =57 227 24
66 55 18 60 77 36 24 60 1 8

~11 +5 =2 -6 =7 =6 +4 +6 =1 =1
96 8 16 5 36 70 96 4 14 25
+8 =1 +4 +5 +12 +10 +12 +4 =7 +5
5 63 10 18 22 35 33 8 77 9
=1 +9 =1 +9 +11 +5 =3 +4 =7 =3
8 6 12 22 16 66 20 100 77 90
=8 +3 +2 +2 +4 =+11 +10 +10 +11 +10
7 110 44 32 7 9 30 132 60 55
+1 +11 +4 +8 +1 +9 +6 <+11 +5 +11
110 18 8 9 6 77 66 7 3 6
=11 =6 =2 +9 +3 +11 +6 =1 =1 =2

~ Math-Drills.Com




Division Facts (])

120

56

Calculate each quotient.

80 24

66

_84_

50 56
+12 +7 +3 +9 =+10 +6 +5 +11 +8 +12
7 120 12 33 14 6 99 70 20 72
+7 =12 =2 +3 =7 +2 +9 =7 +10 +9
56 11 80 22 99 11 22 25 5 42
+7 +1 +8 +2 <9 +11 +2 =5 +5 +6
10 12 60 12 80 44 12 6 14 24
+10 S e ) +2 +10 © =+4 + 1 +3° TF 7 =27
40 66 20 27 21 12 10 5 2 54
=10 =11 =10 +9 =7 +2 +2 =1 =1 +6
3 63 132 88 22 81 3 108 72 121
+3 +7  +11 +8 +11 +9 +1 +9 +12 =+11
20 27 90 28 3 7 77 36 121 12
+ 4 =9 +10 +7 +1 =7 +11 =3 +11 =2
120 7 100 4 16 22 21 108 28 144
+12 =1 +10 +2 +2 +2 +3 +9 +4 +12
10 6 66 56 55 20 77 11 24 121
+2 +3 +6 =7 +11 +4 -7  +11 +2 +11
25 6 72 60 36 42 16 15 9 55
+5 +1 +6 +10 +3 +7 +8 + +9 +11
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Division Facts (A)

Find each quotient.

6+3= 9+3= 5+5= 25+5=
2+2= 42 +-6= 56+7= 6+-6=
96 +-8 = 16+8 = 18+3 = 45+9 =
20+2 = 120+ 10 = 18+2= 60+-6=
56+8= 32+8= 12+2= 24 -8 =
77+11 = 7+7= 30+-5= 8+8 =
16 -4 = 66+11= 12+3 = 30+-3=
20+-5= 72+12 = 9+1= 14 -2 =
21+3=" 12+6=" - 30=6= - 63T =
1+1= 9+9= 54+9= 108 +9 =
13212 = 28+4 = 6+1= 102 =
132 +11 = 36+-6= 3+3= 12+12 =
48 +6 = 36+-12= 2+1= 2412 =
72+6 = 8+2= 3+1= 242 =
15+-3= 369 = 408 = 22+2 =
40+10= 36 -4 = 21+7= 35+5=
10+-10= 40+4 = 4+1= T+1=
110+11 = 24 +-4 = 3+1= 48 -12 =
72+8 = 121 +11 = 4+2= 363 =
50+10= 63+9 = 35+7= 72+9 =
20+-10= 144 +12 = 808 = 80+10=
27+3= 10812 = 48 -8 = 24 -3 =
88 -8 = 162 = 7010 = 64 -8 =
28+7= 33+-11= 6-2= 120+-12 =
90-+10= 10+-1= 18+9 = 32+4=
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Division Facts (B)

.. Find each quotient. .

70+7= 49 -7 = 54+6= 81+9=
60+-10= 8412 = 8+4= 20+-4 =
18+-6= 666 = 99 -9 = 90+9 =
50+5= 84 +7 = 33+3= 44 +11 =
100+10 = 24+6= 96+12 = 30-10=
12+4 = 27+9 = 10+-5= 11+11=
110+10 = 42 +7 = 99 +11= 22+11=
11+-1= 5+1= 77+7 = 55+5=
14+7= - - 60+12= 484 = 45=5=
4+4= 44 -4 = 88+11= 12+1=
40+5= 60-+5= 15+5= 55+11=
20+-5= 50+10= 108 +9 = 3+-1=
96 +12 = 8+1= 11+1= 45+5 =
287 = 54+6= 8+2= 222 =
44 = 567 = 24 +3 = 25+5=
32+-8= 363 = 9+9= 22+11=
2+1= 108 +-12 = 35+5= 6+-1=
6012 = 16 -8 = 3612 = 9+1=
12111 = 8+4= 9+3= 72+12 =
4+1= 77+17= 10+-2= 364 =
24 +8 = 6+3= 30+-3= 16 -4 =
70+7= 42 +7 = 4411 = 144 +12 =
18+9 = 99 -9 = 70=-10= 18+3 =
126 = 21+7= 30+-10= 24 -4 =
142 = 15+3= 13211 = 24 +-12 =
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Division Facts (C)

. Find each quotient.

728 = 10+-10= 27+9= 48 -4 =

60+10= 33+3= 132+12 = 5+1=
60+5= 20+10= 11+11= 12+3 =
20+4 = 96 +8 = 10+-5= 49 +7 =
27+3= 5+5= 35+7 = 48 +12 =
10+-1= 24 +2 = 88 +8 = 55+11=
7+1= 33+-11= 21+3= 1+1=
12+1= 12010 = 63+7= 909 =
12+2= - 84+12= - 64+-8= - 110+ 10= -
32+4= 1+T7= 56 +-8= 15+5=
84+7= 6+-6= 90-+10= 18+2 =
120+12 = 202 = 30+6= 14+7=
66+11= 3+3= 12+12 = 55+5=
808 = 40+5= 11011 = 30+-5=
16 +-2= 40+10= 50+5= 40+4 =
77+11 = 18+6= 80+10= 48 +8 =
72+6= 100+-10= 606 = 28+4 =
45+9 = 81+-9= 369 = 99 +11=
12+4 = 639 = 72+9 = 88+11=
44 +4 = 54+9 = 40+8 = 246 =
66 -6 = 6+2= 2+2= 48 +6 =
36+-6= 8+8= 426 = 4=+2=
36 6= 32+4 = 568 = 27+3 =
40+5= 90+9 = 32+8= 96+12 =
10+-10= 72+6 = 16+-2 = 48 +6 =
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Division Facts (D)

- Find each quotient.

36 -9 = 12+12 = 6012 = 132 =12 =

12010 = 108 -9 = 33+3= 18+9 =
122 = 35+7= 144 +12 = 16 -8 =
202 = 48 +8 = 6+3= 60+5 =
72+9 = 12+6= 108 +12 = 30+-3 =
30+-6= 2211 = 3612 = 12+3 =
81+9= 20+-10= 7711 = 12+4 =
999 = 54+6= 246 = 18+2 =
30— 10i= i QpisiQ oo+ vriiim i 9D At B 287 =
9+-1= T+7= 24+12 = 408 =
28+4 = 45+9 = 7+1= 10+5=
12012 = 42+-6= 48 +4 = 3+3=

18+6= 110+10= 6+-6= 25+5=
110+11 = 36 -3 = 84 +12 = 54+9 =
21+7= 36 -4 = 33+11= 637 =
48 -12 = 2+2= 21 +3= 50+5=
55+5= 96+8 = 63+9= 88+11=
72+8 = 66--6= 30+-5= 20+-5=
121 +11= 5+1= 132+11= 444 =
30+-10= 4+1= 5+5= 808 =
16+-4= 72+12 = 66+11= 77+7 =
15+3= 24 +8 = 18+3 = 11+-11=
27+9= 24 +2 = 24 +4 = 606 =
22+2 = 55+11= 1+1= 35+5=
45+5= 10+2= 20+-4 = 11+-1=
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